Homework 3.3

E.26 Your body can only sense acceleration (and feels it like an fictitious force, due to

the airplane.
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rattle. The rattle then makes noise.
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along the tangent of the curve).
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your body’s inertia). The higher the acceleration, the larger sensation of the fictitious
force. Our body is not able to sense velocity, so we don’t feel the high speed cruising of

E.27 While you can feel accelerations, you can’t feel velocity. (Basically the same as E.
E.29 When the rattle accelerates, the beads inside it continueon and hit the walls of the
E. 30 Due to its inertia. The car wants to go in a straight line along the tangent of the
curve. Thus, during a sharp left-hand turn, it will roll up the right hand wall.

E.31 The sharper the curve, the more centripetal force the train needs to accelerate
around the curve. If the track can’t supply it . . . the train will derail (move off the track
E.35 At the bottom of each swing. Your real weight is down, and fictitious force you feel
due to the centripetal acceleration is down, too.

E.37 As the salad undergoes rapid centripetal acceleration, the water travels in straight

lines and runs off the salad. The adhesion force of the water is not strong enough to
supply the centripetal force to keep the salad on a circular path.
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